Chapter 10

P 425

Solutions to practise excercises

41.

H0: 1 - 2 = 0



Ha: 1 - 2  0
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p-value = 2(.5000 - .4974) = .0052



p-value
[image: image2.wmf]£

 .05, reject H0. A difference exists with system B having the lower mean checkout time.

43.

H0:   1 - 2  =  0



Ha:   1 - 2    0
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Using t table area is between .025 and .05



Two-tail p-value is between .05 and .10



Actual p-value = .0961



p-value > .05, do not reject  H0. Cannot conclude a difference exists.

45.
a.
H0: 1 - 2  0



Ha: 1 - 2 > 0


b.
Using difference data, 
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Degrees of freedom = n - 1 = 13



Using t table, p-value is between .05 and .10



Actual p-value = .0889



p-value > .05, do not reject H0. Data does not support the conclusion that population mean earnings are down in 1997. 
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